[ Efficiency vs vertpos |
- 0.1 - T T
YT ST O S S—
2 : : :
2.0.08F A I R Proereee P
(&) . . .
GO.07Fff--e-erivmemenens Prareneeeaed AREEREREREEE
2 | : :
£0.06 ‘ R R R Prosereee P

0.05F - f-miemmeieeenn beeeeeennns e
0.04 :

0.02 S C T
0.01F-- AR e
o J..\.G- + 1 L1
5 1+
o108 T 0 O 0 0 do
4|t
<+ H
L -+

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mkFit_QCDHighPt_base
Efficiend —— pom_mkFit_QCDHighPt_retrain

N 0.
20.09 : . : . :
1) . . . . .
2 0.08f et R i |
> : : : : :
2 : : : : :
T 2 I St R St
o : : : : :
£ 0.06f ;e A Mt
o : : : : :
O S S
000l

0.03k} - foooe ..........
0.020- (|- 44 S
0.01 *H*ém*“j#{, i 1

&

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05¢ :

> F :

D(_J.045:— :

£ E :

:,—)0.045— :

9.035F :

O = ;

< 0.03F :

g E :

2.025F :

(0] E .

0.02F ;

0.015E :

0.01E] 4

0.005F- :

o w0l B

I E AL T

o 1.05f T4 ) 41 O 6 1 O
£ TEUL L
0G50 5 10 15 20

éim. PV z (cm)



	Contents
	Page 1


